## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-45630-662825be7eaad

**VERIFY.FTGS.US** Date: April 23, 2024

Port of Loading Transport Type Seller (Exporter) Air LOS ANGELES Cotton Citizen, Inc 12828 S Spring St **Destination Country Destination Port** Los Angeles Kuwait SAFAT CA USA **Export Date** Exporting Carrier Consignee MOHAMMED HAMOUD ALSHAYA CO. W.L.L. Import Permit Number Bill of Lading / AWB BRAND: (HARVEY NICHOLS); ATTN: ROSE BAPTISTA AL SOOR STREET, AL MIRQAB P.O. BOX 181 SAFAT 13002 Forwarding Agent Owner or Agent

Remarks Buyer (Importer)



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
CLASSIC V NECK	42.5	United States
H.S.Code: 6105100010		
PRINCE TEE	39.5	United States
H.S.Code: 6105100010		
BOSTON SWEATPANT	28	United States
H.S.Code: 6103420000		
BOSTON SWEAT SHORT	8	United States
H.S.Code: 6103420000 CERTIFICATE OF ORIGIN	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
BOSTON HOODIE Accredited Chamber US2100201	8	United States
H.S.Code: 6110202040		
BOSTON ZIP HOODIE	20	United States
H.S.Code: 6110202040		XXXXXX
======================================	X	=======
YAMBERS FEDER		

Name of Authorized Trade Association





Authorized Signature Behzad Samya

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

## **Commercial Invoice**

Invoice	Date
467514	04/22/2024

Page 1

Please remit payment to: **COTTON CITIZEN** 12828 S Spring St LOS ANGELES CA 90061 United States of America

Bill to:

Style

Mohammed Hamoud Alshaya Co. W.L.L

Description

**COTTON CITIZEN** 

Brand: (Harvey Nichols) Al Soor Street, Al Mirqab

P.O. Box 181 Safat 13002 Kuwait

Ship to: Store:

Mohammed Hamoud Alshaya Co. W.L.L. Brand: (Harvey Nichols); Att: Rose Baptista

**Total Units** 

Price(US\$)

Total Amt.(US\$)

Al Soor Street, Al Mirqab

P.O. Box 181 Safat 13002 Kuwait

Acct	Order	Dept.	Terms		Divis	sion	Rep	1 Rep2	Vendor	Phone
HRVNC	165523		WIRE TRAI	NSFER	*Any	/Division	INL			96522283008
Purchas	e Order					MPTC				
1521853	<b>31</b>									
Ship Via	ı							-	Approval	
OTHER										

	(a)	_	M L	XL	XXL			
Country Of Orig	gin: United States o	f America Fabri	c Content: 100%	SUPIMA COTTO	ON	HTS	Code 6105-10-0	0010
160021	(JTBLK)CLAS	SIC V NECK-JET				35	36.00	1,260.00
	(a)	10	16 8	1				
M60021	(SPRNVCLAS	SIC V NECK-SUF	PER NAVY			30	36.00	1,080.00
	(a)	10	12 8					
И60021	(VBSL) CLAS	SIC V NECK-VIN	TAGE BASIL			20	36.00	720.00
	(a)	5	8 4	3				
	(a)	_	M L	XL	XXL			
Country Of Orig	gin: United States o	f America Fabri	c Content: 100%	COTTON		HTS	Code 6105-10-0	0010
<i>I</i> 161171	(BLCST)PRINC	CE TEE-BLACK C				25	56.00	1,400.00
	(a)	3	10 8	4				
M61171	(NVYCSPRINC	CE TEE-NAVY CA	AST			34	56.00	1,904.00
	(a)	10	12 8	4				
	CK IMMEDIATELY. A			UNE DAVE OF I		24	Due Date:	04/23/2024
	WITHOUT PRIOR V						Charges(US\$):	11,747.00
RA NUMBER A	AND/OR LABEL. PAY	MENT SUBJEC	TTO TERMS ON I	NVOICE.			stments(US\$):	,
						Pay/Aujus	stillerits(US\$).	
Pick Ticket	Ship Date	No. Ctns.	Weight	Start	Comple	te Invoic	e Pay Thi	s Amt. (US\$)
8821	542122d.	Sampa	167.65	02/02/20	24 02/29/20	)24 46751	14	11,747.00
USA		1		Customer C	<u> </u>			

Pick Ticket	Ship Date	No. Ctns.	Weight	Start	Complete	Invoice	Pay This Amt. (US\$)
8821	निश्चामुख.	Sampa	167.65	02/02/2024	02/29/2024	467514	11,747.00

## **Commercial Invoice**

Page 2

**COTTON CITIZEN** 

Invoice	Date
467514	04/22/2024

Please remit payment to: **COTTON CITIZEN** 12828 S Spring St LOS ANGELES CA 90061 United States of America

Bill to:

Style

Mohammed Hamoud Alshaya Co. W.L.L

Brand: (Harvey Nichols) Al Soor Street, Al Mirqab

P.O. Box 181 Safat 13002 Kuwait

Ship to: Store:

Mohammed Hamoud Alshaya Co. W.L.L. Brand: (Harvey Nichols); Att: Rose Baptista

**Total Units** 

Price(US\$)

Total Amt.(US\$)

Al Soor Street, Al Mirqab

XXL

P.O. Box 181 Safat 13002 Kuwait

Acct	Order	Dept.	Terms		Divis	sion	Rep1	Rep2	Vendor	Phone
HRVNC	165523		WIRE TRAI	NSFER	*Any	Division	INL			96522283008
Purchas	e Order					MPTC			1	
1521853	1									
Ship Via	Ship Via							Approval		
OTHER	)THER									

	(a)	S	M	L	XL	XXL			
Country Of Or	igin: United State	s of America	Fabric Conte	nt: 100% COT	TON		нт	S Code 6105-10-0	)010
M61171	(SLVCS)PR	INCE TEE-SIL	VER CAST				20	56.00	1,120.00
	(a)	5	8	4	3				
	(/								

Country Of Ori	igin: United States	s of America	Fabric Conte	nt: 3-END TE	RRY		HTS Code 6103-4	2-0000
M924289	(JTBLK)BO	STON SWEAT	PANT-JET BL	ACK		20	90.00	1,800.00
	(a)	5	8	4	3			

XL

M924289 (VNBL) BOSTON SWEATPANT-VNT NATURAL BLUE 90.00 720.00 2 3 2 1 (a)

Description

M

Country Of Origin	(a) n: United States	S of America Fab	M L ric Content: 3-END		XXL	HTS Co	de 6103-42-0	000
M925189	(a)	2	ORT-VINTAGE BONI 3 2	1		8	86.00	688.00
							Dua Datas	04/23/2024
PLEASE CHECK	(IMMEDIATELY.	ALL CLAIMS MU	JST BE MADE WITH	IN 5 DAYS OF RECE	EIPT OF GOODS		Due Date:	04/23/2024
NO RETURNS W	VITHOUT PRIOR	WRITTEN AUTH	JST BE MADE WITH IORIZATION. NO RE CT TO TERMS ON IN	TURNS WILL BE AL		Total Cha	rges(US\$):	11,747.00
NO RETURNS W	VITHOUT PRIOR	WRITTEN AUTH	IORIZATION. NO RE	TURNS WILL BE AL	LOWED WITH(	Total Cha	rges(US\$):	
NO RETURNS W	VITHOUT PRIOR	WRITTEN AUTH	IORIZATION. NO RE	TURNS WILL BE AL	LOWED WITH(		rges(US\$):	
NO RETURNS W RA NUMBER AN	VITHOUT PRIOR ID/OR LABEL. PA	WRITTEN AUTH	IORIZATION. NO RE	TURNS WILL BE AL	LOWED WITH(	Pay/Adjustme	rges(US\$): ents(US\$):	11,747.00
NO RETURNS W	VITHOUT PRIOR	WRITTEN AUTH	IORIZATION. NO RE	TURNS WILL BE AL	LOWED WITH(		rges(US\$): ents(US\$):	

## **COTTON CITIZEN**

Invoice	Date
467514	04/22/2024

Please remit payment to: **COTTON CITIZEN** 12828 S Spring St LOS ANGELES CA 90061 United States of America

Mohammed Hamoud Alshaya Co. W.L.L

Brand: (Harvey Nichols) Al Soor Street, Al Mirqab

P.O. Box 181 Safat 13002 Kuwait

Ship to: Store:

Mohammed Hamoud Alshaya Co. W.L.L. Brand: (Harvey Nichols); Att: Rose Baptista

Al Soor Street, Al Mirqab

P.O. Box 181 Safat 13002 Kuwait

Acct	Order	Dept.	Terms		Divis	ion	Rep1	Rep2	Vendor	Phone	
HRVNC	165523		WIRE TRAI	NSFER	*Any	Division	INL			96522283008	
Purchase Order						MPTC	PTC				
15218531											
Ship Via							Арр			pproval	
OTHER											

Style	Description						Total Units	Price(US\$)	Total Amt.(US\$)
	(a)	XS	S	M	L	XL	XXL		
Country Of Ori	gin: United State	es of America	Fabric Conte	nt: 3-END TER	RY			HTS Code 6110-2	20-2040
U822689	(VNBL) BOSTON HOODIE-VNT NATURAL BLUE							106.00	848.00
	(a)		2	3	2	1			
	(a)	XS	S	M	L	XL	XXL		
Country Of Ori	gin: United State	es of America	Fabric Conte	nt: 3-END TEF	RRY			HTS Code 6110-2	20-2040
U822789	(JTBLK)BOSTON ZIP HOODIE-JET BLACK							114.00	2,280.00
	(a)	5	8	4	3				

13,820.00 Merchandise(US\$): 228 Discount(US\$) 15.00% -2,073.00

PLEASE CHECK IMMEDIATELY. ALL CLAIMS MUST BE MADE WITHIN 5 DAYS OF RECEIPT OF GOOD! NO RETURNS WITHOUT PRIOR WRITTEN AUTHORIZATION. NO RETURNS WILL BE ALLOWED WITH( RA NUMBER AND/OR LABEL. PAYMENT SUBJECT TO TERMS ON INVOICE.

04/23/2024 **Due Date:** 

Total Charges(US\$): 11,747.00

Pay/Adjustments(US\$):

Pick Ticket	Ship Date	No. Ctns.	Weight	Start	Complete	Invoice	Pay This Amt. (US\$)
8821	निश्चाल्य.	Sampa	167.65	02/02/2024	02/29/2024	467514	11,747.00